| A4

120° (3x)

@47

Pneumatic
Hose-@: 6 mm
Pressure in operation: 6-7 bar / 87-102 psi

Assembling - Maintenance

This drawing is appendix A of the installation and maintenance instruction
"Gutting head type X 2.0 Slimline".

The complete installation and maintenance instruction is hosted at:
hitps//www allfi. com/en/services/downloads/product-manuals/

- Pneumatic-cylinder must be pressurised with air during assembling and
disassembling of valve case and collimation tube.
- Stroke adjustment: Stroke 0.6 - 0.8 mm / 0.0235 - 0.0315",
adjustment range +- 1 revolution.
(Attention: Thread of cylinder cover must not be visible)
- Function test with several open and closed cycles.
- After finishing maintenance flush the complete cutting head without nozzle at < 500 bar / 7,200 psi.
- Pressure relief holes must not be covered or closed.

A-A

Thread of cylinder cover.
Thread-Pitch:
1.0 mm/rev

Glued with 1 drop
Loctite 243

0.7+01 stroke

M16x 1.5

2301 "
2127

153.7

Note *
All dimensions refer

to orifice type 90 & 94,
When using type 91 all
dimensions will
increase by 2.5mm

A—

1/4" - 28 UNF LH

<-- Inlet
1/4" tube

AT 17 /30 Nm
/22 ft-1b

M5x0.8 (3x)

AF 22

107.5

AF 15/35 Nm [ 26 ft-Ib

M1Ex1.5

20Nm / 15 fi-Ibs for Orifice type 90 & 94
30Nm / 22 fi-Ibs for Orifice type 91

bottom surface

N—_

Thread and ") Surface

*) Outer cone

*) Quter cone

*) -> Assembly-Grease DX
ALLFI-Art. 051055

N

Qty Description Part-Number| Commenis | Weight <]
1 |Pneumatic Cylinder Type X 2.0 Slimline| 907690 2408 g
g Disc spring 021037 0ag
1 Rubber cover 907696 2449
1 O-RingD=55x 15 010006 0g
1 O-Ring D=8.73 x 1.78 010056 0.1g
1 O-Ring D=9.52 x 1.78 010050 01g
1 0-Ring D=29.82 x 2.62 010177 05g
1 0-Ring D=31.42 x 2.62 010174 06g
1 Seal kit Typ X 2.0 907130 | Wearpar | 443g
1 Valve Needle type X 2.0 & 3.0 907116 0.2g
1 Pressure plate type X 2.0 907118 4g L
1 HP-seal type X 2.0 & 3.0 907117 0.1g
1 Valve case type X 2.0 907110 | Wear part | 123.5 g
1 Coupling ring X 2.0 & 3.0 aD7174 202.2 g
1 Valve seat 907214 Wear part 619
1 O-Ring D=9.92 ¥ 2.62 010121 02g
1 Gland Nut 1/4" 701403 29149
1 Collar 1/4" 711403 319
9 1 Collimation tube - L107.5 900052 Wear part 178 g
101 Orifice Cap M16x 1.5 900060 47.1g
T Qrifice Type 94 0094xx Notincluded| 1.1g
General tolerances 1S 2768-1 K |t proaerns and mon oo bo-vosd for e panpones ot ems amer "= | osei
Amendment: REFBCE for |-
[Repiaced by | -
Drawn 23.11. 2022 |AM
. . ) Scale  [Checked | 22.02.2023 |aT
Cutting Head Type X 2.0 Slimline PWJ] . g e poasls
. Index-release
Max. 4150 bar / 60,000 psi
Cormporents,
L g
:S\%F‘IIE s;‘elsalg‘;lla:com o htl‘p:.'-'\;l:nw.a-ltﬁ.wm 907600 - :ﬂ‘: 2
I



